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MATHEMATICS
Module 7
Standard 5
Section 1
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:
When I have completed this section,I will be able to: add and subtract fractions and mixed numbers.solve problems involving addition and subtraction of fractions including mixed numbers.
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INTRODUCTION 
The Mathematics E Book Modules is a compilation of content based on the topic Fractions across the levels of Innt One to Form Five. The content develops sequentially to lay the undational prerequisites r Fractions at the early levels, and then progresses to rmal actional concepts and their applications through the use of the area, linear and set models at the higher levels. Sudents' engagement with the E Book Modules will encourage the development of mathematical knowledge and numeracy skills such as communication, problem solving, critical thiking, representation and reasoning, through sel-directed leaing. The development of Number Sense is a cental ature of the modules, which is critical r solving realli problems. The materials are presented through the use of graphics, audio and digital elements such as animations, to capure stdents' interest and ster a love r leaing Mathematics. The provision of immediate edback aer completion of activities and exercises enhances students' metacognition which in t suports their understanding of mathematical content. Teachers can use this body of work as a model, as it reﬂects the Concrete Pictorial Abstract (C) approach which is ndaental to the teaching and leaing of Mathematics. The Ministr of Education of rinidad and Tobago wishes to express its sincere appreciation to all those who contibuted to the design, development and implementation of the Mathematics E Book Modules: CAF Development Bank ICEF MOE ICT Division, Education Technology Unit, Procurement Unit, Curriculum Planning and Development Division. 
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Project Lead Ingrid Kemchand Project Subject Leads Nicole Harris-udsen -Cuiculum Coordinator -Mathematics (Acting) /Subject Proect Lead -Mathematics E Book Modules Jacqueline Pariag Curriculum Coordinator Mathematics (Acting) /Subject Proect Lead Mathematics E Book Modules Curriculum Production Team Content Developers Nicole HarrisKndsen Curriculum Coordinator Hazra Baksh Teacher Primary, Mathematics (Acting) Barrackpore A.S.J.A. Primar School Jacqueline Pariag Curriculum Coordinator Mathematics (Acting) Paticia Prescot Teacher Primar, Karen Mitchell -Curriculum Oﬃcer -Mathematics Mucurapo Bos' R.C. Primary School Garris Beckles Curriculum Oﬃcer Mathematics Patrick Ramdath Curriculum Oﬃcer Mathematics Dale Smar Curriculum Oﬃcer Mathematics, Division of Education, Research and Technolog, Graphic Artist Tobago House of Assembl Donelia Richards Illustrator Zaida han-Ventour -Education Consultant, ZV Education; Graphic Artist Principal, The Universit School Mark Pilgrim Illustator Audio Recording Digitization Firm Richie Regis -Audio Producer Booksion  Voices Garris Beckles -Male voice Nicole Hrrisnudsen Female voice 
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User 
Instructions 
This section will provide you with a quick overview of how to use and complete the interactive activities in this eBook General  
●When responding to questions, insert your answers by typing in the input box. Please do not type your answer with anyadditional spaces at the start or end or end of the answer or it will automatically be marked incorrect.Navi
gati
o
n & 
Buttons  
To 
play 
audio click 
the 
audio 
icon 
To 
move 
forward, 
click 
the 
arrow at the 
far 
right
To 
skip track 
click the forward 
icon 
To 
move 
backward, 
click the 
arrow at 
the 
far 
left  
To 
skip track 
click the forward 
icon 
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2ADDITIONSection 1 Addition and Subtr
action of Fr
actions
You can review these addition skills in Module 6 Section 1.   1) Add a fraction to a whole number.  2) Add fractions with same denominators.  3) Add fractions with one denominator a multiple of the other.  Adding a fraction to a whole numberAdding fractions with same denominatorsAdding fractions with one denominator a multiple of the otherW
ha
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w
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Addition of Mixed Numbers with Same DenominatorsUsing a ModelSolve this problem.Talia did 1   loads of laundry on Friday and 3   loads on Saturday.  How many loads of laundry did Talia do altogether?314Cha
l
l
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e T
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Altogether Talia did                                                     loads of laundry.4
124
6
284
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When adding mixed numbers with the same denominators, add the wholes and fractions separately first.  Remember to reduce your answer to the lowest terms.   
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Talia did 1   loads of laundry on Friday and 3   loads on Saturday.  How many loads of laundry did Talia do altogether?To solve this problem, we drew models to represent the wholes and fractions.We then wrote the number sentence 1   + 3    = 4  . We reduced 4   to get our final answer, 4  .Jennifer solved the problems below.  1) 2    + 1    = 3  2)      + 5    = 5   = 5Explain using models how Jennifer solved these problems. Can you find a pattern that will help you solve problems like these? 1414141424122437275751211261212
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Try these on your own. Draw fraction models to help you solve them.   1) Mrs. Lawson used 6   cups of flour to bake some loaves of bread.  She also used 2   cups of       flour to bake some muffins. How much flour did Mrs. Lawson use altogether?  2) Bryson picked 4   buckets of mangoes.  Stacy picked 3   buckets of mangoes.  How many buckets        of mangoes were picked altogether?  3) David planted 5   beds of lettuce and 1   beds of ochroes.  How many beds did David use altogether?  4) Ephraim cut three pieces of board, 1   metres,    metre and 2   metres.  What was the total        length of the three pieces of board?   5) Rita made 2   litres of orange juice, 2 litres of grapefruit juice and 3   litres of pineapple        juice.  How many litres of juice did Rita make altogether?5818131312123434142545
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Try these questions. 1) 1 + 7 =2) 5   + 2     =3) 1    + 4   + 1   =4)      + 2   + 2   =  56561989310310110471717
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Tony worked the question below. 1   + 2   = 3Is Tony’s answer complete?If Tony’s answer is not complete, explain how he can complete it.4979119Jo
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1)   Create your own real-life word problem. Look at the problems that were used in the      Mathematics Around You section to help you. 2)   Draw fraction models to help you to solve your problem. 
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9Addition of Mixed Numbers with Different DenominatorsUsing a ModelSolve this problem.Ray drank 1   cups of milk for breakfast, 1   cups of milk at dinnertime and    of a cup of milk before he went to bed. How many cups of milk did Ray drink altogether?Hint: Use equivalent fractions13Cha
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56712113156712
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Try these on your own. Draw fraction models to help you solve them.   1) A baker used 3   bags of flour to bake cakes and 3   bags of flour to bake some brownies.        How much flour did she use altogether?  2) Aaron painted a room with 4   litres of green paint and 1   litres of white paint.        How many litres of paint did he use altogether?  3) Tariq entered a triathlon. He ran 5  km, swam for 2  km and rode a bicycle for 4  km.        What was the total distance of Tariq’s triathlon?  4) Mrs. Lee purchased 2   kg of watermelon and 1  kg of bananas at the market.        What was the total weight of fruits that Mrs. Lee purchased?   5) Ishan watered his vegetable garden with 5   litres of water.  He also used 3   litres of water       for his flower garden.  How many litres of water did Ishan use altogether?151101214231671278123412
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Try these on your own. 1) 7 +   =2) 6    +       +  1    =3)      + 2 + 1 =4)      +  1  +4=5)  8+ 1 +2   =  234915251623121412583105611234
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Complete the sentences. My Reminders for Adding Fractions and Mixed Numbers:A fraction is improper when the                          is greater than the                          . A mixed number is made up of a                   number and a                       . When I add fractions and the answer is an improper fraction, I can change it to a                 number. If the numerator and denominator in a fraction is the same number, then I have             whole. Reducing a fraction means that I have written it in its                   terms. 
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13SUBTRACTIONYou can review these subtraction skills in Module 6 Section 1.  1) Subtracting a fraction from a whole number.   2) Subtracting fractions with same denominators.  3) Subtracting fractions with one denominator a multiple of the other.  Subtracting a fraction from a whole numberSubtracting fractions with same denominatorsSubtracting fractions with one denominator a multiple of the otherW
ha
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14Subtracting a Mixed Number or Fraction from a Whole NumberLet us try this question. Trevor picked two pumpkins. One pumpkin weighs 3kg.  The other pumpkin weighs 1   kg less than the first one.  What is the weight of the second pumpkin?We have to calculate 3kg - 1  kgThis is our fraction model that represents our question.The fraction model shows that we have wholes that can be subtracted. It also shows us that we don’t have any eighths from which to subtract   .18183kg
1   kg
1818
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Can you represent a whole as a fraction if you know the denominator (family name)?We have to express one of the 3 wholes as 8 equal parts or 8-eighths  (  ).  Now we can subtract the fractions.    -   =Next, we subtract the wholes. 2 – 1 = 1 15K
e
y Que
s
t
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n
?
1   kg
183kg o
r (2   kg
)
88This model above is showing theamount we have to take away.The model above is showing the amount from which we have to take away. 88187888
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161   kg
183kg
We join the whole with the fraction. Our answer is 1  .The second pumpkin is 1  kg. 7878K
e
y I
dea
One whole can be represented as a fraction. The numerator and denominator are the same number. 
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Try these problems on your own. Draw fraction models to help you solve them.   1) A bucket holds 5 litres of water.  Tessa uses 1   litres to water her plants.       How much water is left in the bucket?  2) Mr. Lane collected 4 dozen eggs.  He used    dozen of the eggs.       How many eggs does Mr. Lane have remaining?  3) Ramesh runs 6 laps around the savannah daily.  He completed 2   laps.        How many laps does Ramesh still have to complete?  4) June cut 4   metres of cloth from a length of cloth 8 metres.  How many metres of cloth does        she have remaining?   5) Chip had 3 cups of corn soup.  He drank    cup. How many cups does he have left?1534273512
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Draw a graphic organizer like the one below.                 My steps to subtract fractions or mixed numbers from a whole number. Name:Date:TopicF
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hen
Fina
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y
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Subtraction of Mixed Numbers with Same DenominatorsSolve this problem.Paul bought a watermelon with a mass of 2  kg.  He gave away 1  kg of the watermelon. What is the mass of watermelon that Paul has left?Cha
l
l
en
g
e T
a
sk 
3419141   kg
142  kg
34Hin
t
The model that represents 1  kg is showing you how much you have to take away. 14
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When subtracting mixed numbers with fractions in which the denominators (family names) are the same, subtract the whole numbers and the numerators separately to calculate the answer. 
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Try these on your own. Draw fraction models to help you solve them.   1) Priya had 2   pizzas of the same size left after her party.  She gave 1  of the pizzas       to her friends to take home.  How much pizza does Priya now have left?  2) Brian has to practice playing the piano for 3   hours.  He has already practiced for 2  hours.        For how many hours does Brian still need to practice?  3) Susan lives 4 km from the playground.  Angie lives 1 km from the same playground.        How much further does Susan live from the playground than Angie?  4) Jillian needs 3   cups of chocolate chips for a recipe.  She has 1  cups.       How many more cups of chocolate chips does Jillian need?  5) Curtis picked 5   buckets of oranges and Hassan picked 1   buckets less than Curtis.        How many buckets of oranges did Hassan pick?4515341423137103757310
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Try these questions. 1) 7 - 3 =2) 2    - 1     =3) 6    - 2  =4) 4    - 2   =5) 5   -  1     =   451567279122125838710410Jo
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Choose one of the problems that you worked out correctly. To help you review, write the steps that you used to subtract mixed numbers with the same denominators. You can use one of the examples that you did in this section to help with writing your steps. 
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23Subtraction of Mixed Numbers with Different DenominatorsTry to solve this problem.Jay cut 2 lengths of pipe.  One length of pipe is 4  m long.  The other length of pipe is 2  m long. Calculate the difference in the lengths of pipe.12Cha
l
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e T
a
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584   m
2   m
12Hin
t
Fractions must have the same denominators (family name) before we can subtract them. Can halves be changed into eighths?58










[image: background image]
24K
e
y I
dea
Fractions must have the same denominators (family names) before you subtract them. 
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Solve these problems. Draw fraction models to help you solve them.   1) Keri bought 7   bags of soil.  He used 4   bags of the soil.         How many bags of soil does Keri have left?  2) Sid had 5   crates of tomatoes.  Two and a half crates of tomatoes were rotten.         How many crates of tomatoes were left?  3) Cathy used 2   cups of flour to make bakes.  She had 5   cups of flour before she started        to bake.  How much flour does Cathy have left over?  4) Sara made 4   litres of fruit punch.  Brad poured out 2   litres.         How much fruit punch was left?   5) Mr. Prem cut 1   metres from a bamboo pole that was 6   metres long.         What is the length of the bamboo pole remaining? 12383413712710351613
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Draw models to solve the problems. 1) 6 - 3 =2) 4    - 2    =3) 3    -  1  =4) 5    -  3   =5) 2    -  1    =   512164531091045231154913
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Nigel solved 3   - 1   and got the answer 2  . His teacher told him that his working was incorrect. Identify Nigel’s error. Then, show how Nigel should have solved the problem. 594613Jo
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r
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a
l
What I Learnt TodayI can subtract mixed numbers with different denominators. Select one of the problems that you solved. Explain how you solved the problem. 
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 Bar models help students to visualise wholes, fractions and mixed numbers. The bar models assist students in deciding the steps they should take in adding or              subtracting wholes, fractions and mixed numbers. Drawing or sketching a bar model is important in problem solving because it represents            the problem pictorially, thus supporting the transition to abstract thinking. 
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SOLUTIONS
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Talia did 1   loads of laundry on Friday and 3   loads on Saturday.How many loads of laundry did Talia do altogether?There are two fraction models that represent each of the loads of laundry that Talia did on Friday and Saturday. Altogether Talia did                                                loads of laundry.4
124
6
284
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Each model has wholes and fractions. Let us count the wholes first.  There is one green whole and 3 orange wholes. 3 plus 1 equals 4. There are 4 wholes. Let us now count the fractions. There is 1 part of 4 equal parts coloured green.  That represents 1 quarter (   ).There is one part of 4 equal parts coloured orange.  That represents 1 quarter (   ).1 quarter plus 1 quarter equals 2 quarters (   ).Now, we join the wholes with the fraction. 4 wholes plus    equals 4  .We can reduce    .  This will give us Therefore 4   is equal to 4  . 1    + 3    = 4 1414242424241224121414241a
dd
143
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4    = 4    when we reduce the fraction. Answer: Talia did 4    loads of laundry altogether. Remember: Whenever a fraction can be reduced (simplified), reduce (simplify) it to its lowest terms.241212
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Talia did 1   loads of laundry on Friday and 3   loads on Saturday.  How many loads of laundry did Talia do altogether?To solve this problem, we drew models to represent the wholes and fractions.We then wrote the number sentence 1    + 3    = 4   . We reduced 4    to get our final answer 4  .Jennifersolved the problems below.   1) 2   + 1    = 3   2)      + 5    = 5    = 5  Explain using models how Jennifer solved these problems.Can you find a pattern that will help you solve problems like these? 1414141424241237275751211261212









[image: background image]
   1) 2    + 1    = 3372757372721+
Jennifer is adding two quantities with fractions in the same family (the denominators are the same).First, she adds the wholes. 2 + 1 = 3Then she adds the fractions.     +    =  She now puts the wholes and fractions together for her final answer. 3 +    = 3 3727575757
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   2)       + 5    = 5    = 5Jennifer followed the same steps here. 512112551211261212There are no wholes in the first quantity.  0 + 5 = 5Then she adds the fractions.     +    =     = She now puts the wholes and fractions together for her final answer.5 +     = 5     or  5  6126121251211261212Discuss with your friends any patterns you found in the solutions.
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1)   Mrs. Lawson used 6    cups of flour to bake some loaves of bread.      She also used 2    cups of flour to bake some muffins.      How much flour did Mrs. Lawson use altogether?       Answer: 8   = 8   cups of flour (reduced to lowest terms) 58618268345818
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2)   Bryson picked 4    buckets of mangoes. Stacy picked 3    buckets of mangoes.       How many buckets of mangoes were picked altogether?       Answer: 7    buckets of mangoes 3)   David planted 5    beds of lettuce and 1   beds of ochroes.       How many beds did David use altogether?       Answer: 6    = 6 + 1 = 7 beds of lettuce (   is the same as 1 whole)13131341332312512112122222
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4)   Ephraim cut three pieces of board, 1    metres,    metre and 2    metres.        What was the total length of the three pieces of boards?        Answer: 3    = 3 + 1    = 4    metres (    is the same as 1   )5)   Rita made 2    litres of orange juice, 2 litres of grapefruit juice and 3    litres of pineapple      juice.  How many litres of juice did Rita make altogether?       Answer: 7    = 7 + 1     = 8    litres of juice  (    is the same as 1   )343414743434743425456515156515341341422522453
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1)   1   + 7   = 8   = 8 + 1        8  +  1   = 9   = 9         (When there is an improper fraction,  change it to a mixed number. Make certain      that the fraction is reduced/simplified to the lowest terms.)2)  5   + 2   = 7   = 8  (   is the same as 1 whole)3)   1     + 4    + 1    = 6 4)      + 2   + 2    = 4You can also use models to solve these problems. 5656106464623198999993103101107104717176746
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Tony worked out the question below. 1   + 2   = 3Is Tony’s answer complete?If Tony’s answer is not complete, explain how he can complete it. Tony has 3  . This is a mixed number with an improper fraction. Tony can express the improper fraction as a mixed number to complete his answer.Therefore, 3   = 3 + 1   = 4 Tony’s final answer is 4  .7949119119119292929
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Solve this problem.Ray drank 1   cups of milk for breakfast, 1   cups of milk at dinnertime and    of a cup of milk before he went to bed. How many cups of milk did Ray drink altogether?Each model represents a fraction with a different denominator or family name.Before we add, we must make the denominators the same. We will need to make equivalent fractions so that all the denominators will be the same.  We will use twelfths as our denominators. The models show thirds and sixths expressed as twelfths. 13Cha
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567121  cups  131   cups56712cup
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1   cups  4121   cups1012712cup     =     x    =      =     x    = We can now add the wholes: 1 + 1 = 2We then add the fractions: 4 twelfths + 10 twelfths + 7 twelfths = 21 twelfths. We join the wholes with the fraction: 2   . We have an improper fraction. Therefore, change the improper fraction to a mixed number.     = 1Remember to add the 2 wholes that you already have to the 1 whole after changing the improper fraction to a mixed number. 2   = 2 + 1   = 3If a fraction can be reduced, reduce it to the lowest terms. 3   = 3Answer: Ray drank 3   cups of milk.13134441256562210122112211291221129129129123434
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Try these on your own. Draw fraction models to help you solve them.   1) A baker used 3   bags of flour to bake cakes and 3   bags of flour to bake some brownies.        How much flour did she use altogether?151103  153110
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The model with fifths can be changed to tenths     3    + 3    = 3   + 3    = 6                        Answer: 6   bags of flour    3  210311015110210110310310
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  2) Aaron painted a room with 4   litres of green paint and 1   litres of white paint.        How many litres of paint did he use altogether?      The model with halves can be changed to quarters. 12144  121144  24114
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       4    + 1    = 4    + 1   = 5       Answer: 5   litres of paint  3) Tariq entered a triathlon.  He ran 5  km, swam for 2  km and rode a bicycle for 4  km.        What was the total distance of Tariq’s triathlon?1214241434342316125  234122  16
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The models with thirds and halves can be changed to sixths.       5   +  2    + 4   = 5   + 2   + 4   = 11                                         11   = 11 + 1   = 12        Answer: 12  km      (Remember: change the improper fraction to a mixed number and reduce/simplify fractions       to its lowest terms.) 5  464362  162316124616368686261313
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  4) Mrs. Lee purchased 2  kg of watermelon and 1  kg of bananas at the market.        What was the total weight of fruits that Mrs. Lee purchased?       The model with quarters can be changed to twelfths.      2   + 1   = 2   + 1    = 3       3   = 3 + 1   = 4   = 4                                     Answer: 4  kg of fruits347122  3417122  912171234712912712161216124124121313
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  5) Ishan watered his vegetable garden with 5   litres of water.  He also used 3   litres of water       for his flower garden.  How many litres of water did Ishan use altogether?78125  78312
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The model with halves can be changed to eighths.      5   + 3   = 5   + 3   = 8                             8   = 8 + 1   = 9       Answer: 9   litres of water      (Remember: when there is an improper fraction change it to a mixed number.)5  7834878381278481181183838
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Try these on your own.    1) 7    +     = 23497  2349
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The model with thirds can be changed to ninths.    Answer: 7   +    = 7             7   = 7 + 1   = 8  (Remember: when there is an improper fraction change it to a mixed number.)7  694923109109191949
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  2) 6   +    + 1   =6  151310251525310
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The models with fifths can be changed to tenths.          Answer: 6   +    + 1   = 6   +    + 1   = 76  21013104101525310210410310910
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  3)     + 2  + 1   =The models with halves and thirds can be changed to sixths.       Answer:    + 2   + 1   = 3                  3   =  3  + 1   = 4   = 4       (Remember: when there is an improper fraction change it to a mixed number.         Reduce the fraction to its lowest terms.)16231216112232161364621623128686262613
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  4)     + 1   + 4   =       The model with halves and quarters can be changed to eighths.       Answer:     + 1   + 4   = 5                  5   =  5  + 1   = 6      (Remember: when there is an improper fraction change it to a mixed number.)14125814458121284584811412581181183838
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  5)  8   + 1   + 2   =56112345623411218
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The model with sixths and quarters can be changed to twelfths.           Answer: 8    + 1    + 2    = 11                    11    =  11  + 1     = 12 =12         (Remember: when there is an improper fraction change it to a mixed number. Reduce the           fraction to its lowest terms.)101229121121856112342012201281281223
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One whole is represented as a fraction when our numerator is the same number as the denominator. We cut our whole into the equal parts named by the denominator.Sol
u
t
io
ns 
Can you represent a whole as a fraction if you know the denominator (family name)?K
e
y Que
s
t
io
n
?
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Try these problems on your own. Draw fraction models to help you solve them.   1)  A bucket holds 5 litres of water.  Tessa uses 1   litres to water her plants.       How much water is left in the bucket?      We have to express one of the 5 wholes as 5 equal parts or 5-fifths.        Answer: 5 - 1   = 3   litres151154  555  (
(
This model above is showing the amount we have to take away.The model above is showing the amount from which we have to take away. 1545
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  2) Mr. Lane collected 4 dozen eggs.  He used    dozen of the eggs.        How many eggs does Mr. Lane have remaining?       We have to express one of the 4 wholes as 4 equal parts or 4 quarters.      Answer: 4 -   = 3   dozens  34343  444 or(
(
This model above is showing the amount we have to take away.3414
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  3) Ramesh runs 6 laps around the savannah daily.  He completed 2   laps.        How many laps does Ramesh still have to complete?       We have to express one of the 6 wholes as 7 equal parts or 7-sevenths.      Answer: 6 - 2   = 3   laps27275  776 or(
(
This model above is showing the amount we have to take away.27572  The model above is showing the amount from which we have to take away. 
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357  558 or4(
(
35  4) June cut 4   metres of cloth from a length of cloth 8 metres.  How many metres of cloth      does she have remaining?       We have to express one of the 8 wholes as 5 equal parts or 5-fifths.      Answer: 8 - 4   = 3   metres of clothThis model above is showing the amount we have to take away.The model above is showing the amount from which we have to take away. 252535
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5)  Chip had 3 cups of corn soup.  He drank    cup.         How many cups does he have left?       We have to express one of the 3 wholes as 2 equal parts or 2-halves.      Answer: 3 -   = 2   cups of soup12122  223 or(
(
This model above is showing the amount we have to take away.The model above is showing the amount from which we have to take away. 1212
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2  kg  34Sol
u
t
io
ns 
Solve this problem.Paul bought a watermelon with a mass of 2  kg.  He gave away 1  kg of the watermelon. What is the mass of watermelon that Paul has left?We subtract the wholes.2 – 1 = 1Then we subtract the fractions.    -     = Cha
l
l
en
g
e T
a
sk 
34141   kg
14The model above is showing the amount we have to take away.The model above is showing the amount from which we have to take away. 341424
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We now put the whole and fraction together.1We can reduce the fraction. 1   = 1The mass of watermelon that Paul has left is 1  kg. 24241212
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Try these on your own. Draw fraction models to help you solve them. 1)  Priya had 2   pizzas of the same size left after her party.  She gave 1  of the pizzas     to her friends to take home.  How much pizza does Priya now have left?      Answer: 2   - 1   = 1   pizzas45152  kg  451   kg
15The model above is showing the amount we have to take away.The model above is showing the amount from which we have to take away. 451535
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 2)  Brian has to practice playing the piano for 3   hours.  He has already practiced for 2   hours.           For how many hours does Brian still need to practice?      Answer: 3   - 2   = 1                   1   = 1   hours   (Reduce fraction to its lowest term.)34143  34The model above is showing the amount we have to take away.2  14The model above is showing the amount from which we have to take away. 3414242412
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3)  Susan lives 4  km from the playground.  Angie lives 1  km from the same playground.      How much further does Susan live from the playground than Angie?      Answer: 3  km2313134  km  23The model above is showing the amount we have to take away.1  kmThe model above is showing the amount from which we have to take away. 13
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4)  Jillian needs 3   cups of chocolate chips for a recipe. She has 1   cups.     How many more cups of chocolate chips does Jillian need?      Answer: 2   cups of chocolate chips5737373  57The model above is showing the amount we have to take away.1The model above is showing the amount from which we have to take away. 27
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  5) Curtis picked 5   buckets of oranges and Hassan picked 1    buckets less than Curtis.        How many buckets of oranges did Hassan pick?      Answer: 4   = 4   buckets of oranges  (Reduce fraction to its lowest term.)7103105  7101310The model above is showing the amount we have to take away.The model above is showing the amount from which we have to take away. 41025
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  1) 7   - 3   =       Answer: 445Draw models to solve. 157  45315The model above is showing the amount we have to take away.The model above is showing the amount from which we have to take away. 35
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  2) 2    - 1    =       Answer: 1672  67127The model above is showing the amount we have to take away.27The model above is showing the amount from which we have to take away. 47
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  3) 6    - 2    =       Answer: 49126  9122212212The model above is showing the amount we have to take away.The model above is showing the amount from which we have to take away. 712
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  4) 4    - 2    =       Answer: 2   = 2     (Reduce fraction to its lowest term.)584  5823838The model above is showing the amount we have to take away.The model above is showing the amount from which we have to take away. 2814
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  5) 5    - 1    =       Answer: 47105  7101410410The model above is showing the amount we have to take away.The model above is showing the amount from which we have to take away. 310
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Try to solve this problem.  Jay cut 2 lengths of pipe.  One length of pipe is 4  m long.  The other length of pipe is 2  m long.  Calculate the difference in the lengths of pipe.4  m  582  m125812
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Hin
t
Fractions must have the same denominators (family name) before we can subtract them. Our fractions have different denominators. Can halves be changed into eighths? Halves can be changed into eighths. We will change our models to show fractions with the same denominators (eighths).We changed our halves to eighths. We can now subtract our whole numbers.4 – 2 = 24  m  582  m or122  m  48(
(
This model above is showing the amount we have to take away.The model above is showing the amount from which we have to take away. 
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Then we subtract our fractions.    -    = We join our wholes with the fraction.24   - 2   = 4   - 2   = 2The difference in the lengths of the two pieces of pipe is 2  m.  584818184  m  582  m or122  m  48(
(
This model above is showing the amount we have to take away.The model above is showing the amount from which we have to take away. 581258481818
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Solve these problems.  Draw fraction models to help you solve them.  1)  Keri bought 7   bags of soil.  He used 4   bags of the soil.     How many bags of soil does Keri have left?    First, we have to change our models to show fractions with the same denominators.    Change halves to eighths using equivalent fractions.        7   = 7  12381248
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7  48438The model above is showing the amount we have to take away.The model above is showing the amount from which we have to take away. Answer: 7   - 4   = 7   - 4   = 3   bags of soil1238483818
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  2) Sid had 5   crates of tomatoes.  Two and a half crates of tomatoes were rotten.        How many crates of tomatoes were left?       First, we have to change our models to show fractions with the same denominators.       Change half to quarters using equivalent fractions.            2   = 2        Answer: 5   - 2   = 5   - 2   = 3   crates3412245  34224The model above is showing the amount we have to take away.The model above is showing the amount from which we have to take away. 3412342414
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  3) Cathy used 2   cups of flour to make bakes. She had 5   cups of flour before she started        to bake.  How much flour does Cathy have left over?         First, we have to change our models to show fractions with the same denominators.       Change thirds to twelfths using equivalent fractions.         2   = 2        Answer: 5   - 2   = 5   - 2   = 3                3    = 3   cups of flour  (Reduce fraction to its lowest term.)13134125  7122412The model above is showing the amount we have to take away.The model above is showing the amount from which we have to take away. 7121371241231271231214
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  4) Sara made 4   litres of fruit punch.  Brad poured out 2   litres.        How much fruit punch was left?         First, we have to change our models to show fractions with the same denominators.       Change fifths to tenths using equivalent fractions.         2   = 2        Answer: 4   - 2   = 4   - 2   = 2    litres of fruit punch710356104  7102610The model above is showing the amount we have to take away.The model above is showing the amount from which we have to take away. 7103571061035110
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  5) Mr. Prem cut 1   metres from a bamboo pole that was 6   metres long.        What is the length of the bamboo pole remaining?         First, we have to change our models to show fractions with the same denominators.       Change thirds to sixths using equivalent fractions.         6   = 6        Answer: 6   - 1   = 6   - 3   = 3   metres1613266  26316The model above is showing the amount we have to take away.The model above is showing the amount from which we have to take away. 131626161613
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6    -  Sol
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  1) 6   - 3   =       Change sixths to twelfths using equivalent fractions.       3    = 3      Answer:  6   - 3   = 6   -  3    = 3                         3   = 3     (Reduce fraction to its lowest term.)512Draw models to solve the problems. 16162123  2125125121651221231231216









[image: background image]
  2) 4   - 2   =       Change fifths to tenths using equivalent fractions.       4   = 4      Answer:  4   - 2   = 4   - 2    = 2                  2   = 2     (Reduce fraction to its lowest term.)45310458104   -  2  3108104531081031051051012
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  3) 3   - 1   =       Change fifths to tenths using equivalent fractions.       1   = 1      Answer:  3   - 1   = 3   - 1    = 2 91045458103   -  1  81091091045910810110
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  4) 5   - 3   =       Change thirds to fifteenths using equivalent fractions.       5   = 5      Answer:  5   - 3   = 5    - 3    = 2                        2    = 2     (Reduce fraction to its lowest term.)5-  231152310153  115101523115101511591591535
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  5) 2   - 1   =       Change thirds to ninths using equivalent fractions.       1   = 1      Answer:  2   - 1   = 2    - 1    = 1 2-  491313391  39494913493919
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Nigel solved 3   - 1   and got the answer 2  . His teacher told him that his working was incorrect. Identify Nigel’s error. Then, show how Nigel should have solved the problem.Answer: Nigel subtracted the denominators to get a denominator of 6. He was supposed to make certain that both denominators were the same before subtracting,  by changing thirds to ninths. Nigel’s solution should be: 3   - 1   = 3   - 1   = 2    (You can draw a model to show Nigel’s working.) 5946135913392959
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Y
es, you ar
e corr
ect!
Sorry, that is incorr
ect. 
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